$$\begin{array}{c} |PY\rangle \quad \sqrt{1+\tan^{7}x} \left(Y \sin^{7} \frac{\pi}{r^{2}} - 5iA^{7}x\right) = \frac{1}{1} \left(1 - \sin^{7}x\right) = \frac{cs_{2}x}{cs_{2}x_{1}} - cs_{2}x_{1}} \\ \hline \left(1 - \sin^{7}x\right) = \frac{1}{1} \left(2 - \sin^{7}x\right) = \frac{1}{1} \left(1 - \sin^{7}x\right) = \frac{1}{1} \left(1 - \sin^{7}x\right) = \frac{1}{1} \left(1 - \frac{1}{1} - \frac{1}{1}\right) = \frac{1}{1} \left(1 - \frac{1}{1}\right) = \frac{1}{1} \left(1$$

$$|Y'''| = h_{1} = \frac{r_{k}}{r_{k}} = \frac{r_{k}}{r_{k}} = \frac{r_{k}}{r_{k}}$$

$$|Y' = \omega_{k} \rightarrow w = \frac{y_{k}}{r_{k}} = \frac{h_{r}}{r_{k}} = \frac{k_{k}}{r_{k}} = \frac{k_{k}}{r_$$



$$\begin{array}{c}
\begin{aligned}
It^{A} = p(d_{1}) = \cdot v \quad p((r) = \cdot t \quad p(r) = d_{1}) = \cdot v \\
& p(r) \int d_{1} = \cdot v \\
p(r) \int d_{1} = \cdot v \\
& p(r) \int d_{1} = \cdot v \\
\hline p(r) \\
\hline p(r) \hline p(r) \\
\hline p(r) \\
\hline p(r) \hline p$$



$(\epsilon 4) f'(\epsilon) = ? f'(\alpha) = \frac{1}{V\sqrt{\alpha}} (\alpha - V\alpha) - (-V) (1 + \sqrt{\alpha}) x = \epsilon \frac{V}{V} \qquad \qquad$
$\frac{1}{2} = \frac{1}{2} + \frac{1}$
$f(g(n)) = g'(x) \times f'(g(x)) \xrightarrow{X=r} g'(r) \cdot f'(g(r)) = -r \times f'(\omega) = 4$
$g'(x) = \frac{-r-1}{(x-1)^r} = \frac{-r}{(x-1)^r} \longrightarrow g'(r) = -r$ $f'(\omega) = -r$
169) $\frac{f(\varepsilon) - f(\iota)}{\varepsilon - \iota} = \frac{(\Lambda - \frac{1}{\varepsilon}) - (\frac{1}{\varepsilon} - \iota)}{\mu} = \frac{q - \frac{\mu}{\varepsilon}}{\mu} = \mu - \frac{1}{\varepsilon} = \frac{1}{\varepsilon}$
$f'(x) = x + \frac{1}{x^{r}} - pf'(r) = r + \frac{1}{2} = \frac{q}{2}$ is $y'' = \frac{1}{2} = \frac{1}{7} - \frac{1}{7}a$
$I \stackrel{(1)}{=} \qquad A \stackrel{(1)}{=} \stackrel{(1)}{=} \qquad S = x \sqrt{1Y-x} \rightarrow S' = \sqrt{1Y-x} + \frac{-x}{\sqrt{1Y-x}} = \cdot$ $S = x \sqrt{1Y-x} \rightarrow S' = \sqrt{1Y-x} + \frac{-x}{\sqrt{1Y-x}} = \cdot$ $S = 4x^{1} + \frac{-x}{\sqrt{1Y-x}} = \cdot$ $V = 1 + \frac{1}{\sqrt{1Y-x}} + \frac{-x}{\sqrt{1Y-x}} = \cdot$
$(ar)  re=A \rightarrow c=\delta \qquad a=\sqrt{b+c+a} \rightarrow e=c=\delta \qquad sin ie$
$n_{+}^{r} (\underline{n-1}) n + \frac{n-q}{r} + \lambda_{1} + \frac{n\times q}{r} = \lambda_{1} + \frac{n + q}{r} = 1 $



102) f(n)= n-1n-1 1 1 2 - + - (n-1) - = n>1, y>- = y+E=(K-1) - √y+E = x-1 → x= √y+E+1 → y=√x+E+1  $\frac{1}{12} = \frac{1}{12} = \frac{1}{12}$ Fri  $\frac{Y}{\parallel} = \frac{-1}{\Box A} = \frac{\left(\frac{A}{P}\right)}{\left(\frac{A}{P}\right)} = \frac{q}{P} = \frac{q}{q} \frac{q}{$ 

